                        Consider the general transformation of the independent variables x and y of the equation 
                                               [image: image1.png]Au.. + By + Cp+ Du. + Eu,+ Fu=G



   ........................(1)
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   are continuously differentiable and the Jacobian 
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         in the domain   [image: image7.png]


   where the equation (1) holds. 
         Using the chain rule of partial differentiation, show that the differential equation (1)
         transforms into the differential equation 
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          where, 
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